
nd anpura? 

Which of the following is the Same as 
Sitar, 

Guit 
Trumpet 

(A) Harmonium 
(B) 

Violin 

(C) Mridanga 
(D) 

2. 

Yamuna 

Lucknow is situated on river (B) 
(D) 

Tonk 

(A) Ganga 
(C) Gomti

() TOTT 

captain
of 

lndian

Kabbadi 

team 
from 

Himachal i 

(B) Ajay Thakur 

from 
Himachal Pradesh who has been 

Name the 
bestowed with Padma Shri: 

(A) Charanjeet singh 

(C) 

(D) Ajay Rana 

Surinder Nada 

Prime Minister's Ujjawala Yojna is related to: 

(A) Gobar Gias 
(B) Electricity 

(C) Solar light (D) Cooking gas 

( 

Find the odd man out in 16, 25, 36, 72, 144, 196, 225: 
(A) 36 

(C) 
(B) 72 

196 
(D) 225 

16, 25. 36. 72, 144. 196, 225 À AHIG HTT 5 
( 

(F) 196 
(T) 72 

225 
A man is 24 years older than his son. In two years, his age will be twice the age of 
his son, the present age of the son is: (A) 14 
(C) 20 (B) 18 

(D) 22 



ATA 

8 

2 

FM 20 

rk 
National 

Park is 
located 

in: 

(B) 
Lahaul & Spiti 

Tnder Killa National }'ar 
(A) Kullu 

(D) Chamba 

(C) Shimla 

() T)aT 

(F) tRTHAT 

Which of the following 
rivers fNows in J &K from Himachal Pradesh? 

(A) 
8. 

(B) Beas 

Jhelu (D) Chenab 

(C) Satluj 

() 
) HTT 

9. 
GST means:

(A) Goods and Sales Tax 

Goods and Services Tax 

(B) General Sales Tax 

(D) General State Tax 

(C) 

() 

Which district of Himachal Pradesh has highest density of population? 

(A) 
(C) 

10. 
Solan (B) Una 

Bilaspur 
(D) Hamirpur 

( 

Change the gender of 'Colt': 

(A) 
(C) 

11. Sow (B) 
(D) Filly 

Doe 

Bee 

12. of Lion in the forest: I saw a 

(A) Group 

Pride 

Herd (B) 
Flock 

(C) (D) 

Replace 'than' in the sentence 'He did nothing else than weep': 

(A) 
13. 

But (B) Then 

(C) And (D) Only 



Which of the following sentence is correet The catties is grazing 
14. (B) 

The cattle is grazing The cattles are grazing 

The cattle are grazing 
(A) (D) 
(C) 

Which of the following 
narration is correct? He says, "I am working hard": 

he was working hard 
He says that 

(B) 
(D) He says tnat l am working hard 

15. 

(A) He says that I was working hard 

(C) He says that he is working hard 

(B) Playtul 

(D) Play 

16. Adjective of play is: 

(A) Playing 
(C) Played 

Find the eorrectly spelt word: 

(A) Bouque 

(C) Bouquete 

(B) Bouquet 

(D) Bouucque 

17. 

The antonym of "Bold' is: 

(A) 

18. (B) Cheap 
ldle (D) Timid 

(C) Foolish 

The synonym of °Evil' is: 

(A) 
19. (B) Ugly 

(D) Smart 
Good 

C) Bad 

Find the adverb in "The story is well written: 

(A) 
20. (B) The 

Written 

(D) s 
(C) Well 

21. 

() 

22. 

(T) 

(T) 

23. 

( 

farr 
24. 

() 

25. 



26. 

(a) 

() 

(sI) 97 

(aT)T 

(3) 

28. 

() 

3HTHUT 
r 

29. 

() 

a77 + TET 

TT+ 
HH TT +UTzZ 

30. 

( fatesT 

The length of longes rod which can fit in a 
cubical v al 

vessel 
of 

side 
10 

cm 
is: 

(B) 10/2 cm 

(D) 103 cm (A) 20 cm 

(C) 10 cm 

#*7 gT 
(side) 

10 
AAET 

RAt EATU 

() 20 cm 
(ch 10v2 cm 

10 cm 
10V3 cm 

32 If diagonal of a square is 42 cm then its area is: 

26 cm 
36 cm 

(A) (B) 16 cm 

(C) 
(D) 22 cm 

26 cm* 16 cm 

36 cm S 22 cm 

The LCM and HCF of the two numbers is 180 and 6 respectively. If one nf th. 

number is 30 find other: 
33. the 

(A) 435 (B) 36 
(D) 6 C) 4290 



a7 FEAIHT 7 LCM r HCF 180 t 6 T FGT 30 a 

(a 36 

435 ( 
(3h6 

4290 

The line segment joining points (-3, -4) and (1, -2) is divided by y.- avie 

(B) 
(D) 3:2 

A 2) is divided by Y AXIS in the 39. 34. 
ratio of :3 
(A) 3:1 

(C) 2:3 

(-3, 4) 3tr (1., 2) ATd aTaTT&3 y T gRT KA 

3:1 
(a) 1:3 

() 
(3) 3:2 

F) 2:3 

If mean= 75 and median is = 60 then mode is: 

(A) 30 

(C) 330 

35 (B) 105 
(D) 245 

z ATtT = 75 3tT ATET = 60 Iat EET 

30 105 (T) 

330 (27 st245 

36. If the perimeter of the cirele is equal to that of a square, then the ratio of their 
areas is 

(A) 7:22 (B) 14:11 
(C) 11:14 

(D) 22:7 

7:22 
14:11 

(T) 11:14 
s 22:7 

37 Solve 4-4x5+5: 
(A) 5 

(B) 10 (C)-11 
(D)-21 

4-4x5+5 
T5 

10 

sh-21 
38. According to Pythagoras theorem (12)+ (13): (A) 13 

(B) 52 

(D) 25 
(C) 10 



5 
TAN (12)*t...(13): 

13 
25 

10 

Roots of quadratic cquation 
2a-xare: 

39. 
(B) 

(D) None of the above 

& ( 

1-tan 450 
1+tan 450 40. 

(B) 2 

(A) (D) 1 

(C) 

1. Scurvey disease is caused by the deficiency of 

Vitamin B 
(A) Vitamin A 

Vitamin C 

(B) 
(D) Vitamin D 

(C) 

() 

The chemical used to join the railway tracks or eracked machine parts along 

with aluminum is: 
42. 

Fe20 
ZnCO3 

(B) MnO 
(D) CuO (A) 

(C) 

Fe20s 
T) MnO2 

ZnCO 
$)Cu2O 

The 'ability' of metal to be drawn into wires is called: 

Malleability 
D) Conductivity 

43. 

(A) Ductility (B) 

(C) Sonorous 



(aT) 
( (3) TEHTTT 

tafa 

(B) 1380°C 

3422°F 
44. Melting point of tungsten is: 

(A) 3422 C 
(D) 

(C) 1380F 

1380°C 
(3422 c 

3 3422°F 
H) 1380F 

0. 

45. Chemical formula of benzene is: 

(B) CaH2 (A) CH 

(C) CsH (D) Csll 

CaH CoH2 ( 

3CsHs 

Which gas is produced when dilute hydrochloric acid is added to reactive metal? 
(B) S0, 
(D) CO 

CsH 
46. 

(A) CO 
C) H: 

CO 

(3T) CO 

47. Total number of structural isomers of CH10 are: 
(A) 5 

(B) 3 
(C) 2 

(D) 4 

CgHoTYAAT HHTTYat HEAT: 
()5 

3 
(M 2 

4 

48. The electronic configuration of which element is 2,8, 3: (A) Sodium 
C) Aluminium (B) Magnesium 

(D) Potassium 

aTdagiA faA 2, 8, 3 
() 



The eheICnl formula of acid present in vinegar i 
A 

)CHCOOH 

49 U,SO, (B) CH,0; 

(D) HCL 

11,S0 ( 
( Cotls0, 

HCL 

Name 
(A) 

the Rheost tnstrument that is used to eontrol current in an electrie eireui 
0. 

(B) Ammeter 

(D) Galvanometer C) Voltmeter 

What is the refraetive index of diamond: 
(A) 2.42 

51. 
(B) 1.5 

(D) 1.33 (C) 1.03 

( 2.42 

(ET) .03 $ I.33 

52. A converging mirror is: 

(A) Concave mirror 
(B) Shaving mirror 

(D) Convex mirror 
(C) Plane mirror 

(T) 

(HT)THAA ZUUT 

The differenee in temperature between surface water and water at a depth of 2 

km in sea is: 
53. 

(A) 10C 
(B) 15°C 

(C) 20C 
(D) 25"C 

) 
10C 

20°C 
3 25°C 

In an electric eircuit the direetion of Mow of eleetrons and electric current is: 

(B) 54 
In the opposite direction 

In the same direction 

(A) 
No direction 

(D) Remain stationary 

(C) 

Serie= 



An 
electric 

bulb 
connected 

to a 220 V 
generator 

and a elee 

(B) 1100 W 
eurrent ul h 

55. 
passes 

through 
the bulb. 

What will be the power 
of the bulb: 

60 W 
100 W (D) 

(A) 0. (C)10 W 

f faya 
20 V afAT FATa zt rHO.S A 

T100 W 

100 60 W () (T 

(B) Curved 

(D) Triangular 

56. Magnetic field lines are: 

(A) Straight 

(C) Close curve 

(at) 

SI unit of electric potential difference is: 

(A) 
57. 

Ampere (B) Volt 

(C)Meter (D) Ohm 

(T 

58. The functional unit of kidney is: 
(A) Neuron 
C) 

(B) Nephron 
(D) Glomerulus Bowman Cup 

(t) 

9. An example of Homologus organ is: 
(A) Human arm and a dog's fore-leg 
(C) Human arm and fore limbs of horse 

(B) Human teeth and elephants tusk 
(D) All of these 



(HT) 

nich of the following is a plant hormone 

(A) Insulin 
60. 

(B) Oestrogen 

(D) Cytokinin 

(C) Thyroxin 

() 

ne 
breakdown of pyruvate to give 

carbon 
dioxide, 

water 
and 

eneE 

in: 

de, 
water 

and 
energy 

takes 
place 

61. 

Golgi bodies 
Mitochondria 

(B) Chloroplast 

(D) (A) 
Nucleus 

(C) 

( 

HISeAT 

The gap between two 
neurons 

is called a: 

(A) 
(C) 

(B) Synapse 

(D) Impulse 62. 
Dendrite 
Axon 

( HTdT 

(H) 

63. The xylem in plants is responsible 
for: Transport of food 

(B) 
(D) Transport 

of oxygen 

(A) 
Transport of water 

(C) Transport of amino acids 

Which of the following is not a part of female reproductive system in huma 

64. 
being: 

Vas Deferens 

(A) 

(C) 

(B) 
(D) Fallopian tubes Ovary 

Uterus 



(T) HSTRT 

which of the following animal has longest gestation period? 

(A) Lion 
65. (B) Human 

(D) Birds 

C) Elephant 

State flower of Himachal Pradesh is: 

(A) Lotus 

66. (B) Pink Rhododendron 
(D) Flame of the Forest 

C) Rose 

(T) 

Great Himalayan National Park is located in: 

(A) 
67. 

(B) Lahaul& Spiti 

(D) Chamba 

Kullu 

(C) Shimla 

(T 

3) T 

68. Blue bull belongs to category of animals called: 
(A) Goats (B) Cows 
C) Buffalows (D) Deer 

() 45t 
(T) T 

69. Following freshwater mammal is found in river Beas: (A) Hippopotamus 
(C) Baikal seal (B) Dolphin 

(D) Walrus 

(T) 
() 

(3T) IRH 



70. 
e week is celebrated during mo (A) February 

th 

(B) April 
(C) July 

(D) October 

() 9Rat (AT) 

T) 3HFT 

71. Lion is found in: 
(B) Meghalaya 

(D) Go0a 

(A) Gujrat 
(C) Orissa 

HOTGT 

TSTRTT 
35HT T) 3TAT 

Smallest functional unit of forest administration is: 

(B) Range 

Division 
(A) Beat 

C) Block (D) 

(T) 
ST)Hu57 

The name of person famously known as waterman is: 

(A) 
73. 

(B) 
Sunderlal Bahuguna 

Chandi Prakash Bhatt 
(D) Rajendra Singh 

(C) Anupam Mishra 

() 

yH T 

Which of the following Indian state is having maximum area under forests? 

(A) 

74. 
(B) Gujrat Maharashtra 
(D) 

Madhya Pradesh 
(C) Himachal Pradesh 

HEIRTS 

Which of the following is important component of Trifla: 

Harard 
75. 

(B) (A) Arjun 
Sal (D) Mahua 

(C) 



() 

Ratha is extracted from the wood of which tree 

(A) 

Ban Oak 

(B) 
Teak 

(D) 
76. 

Tooni 

(C) Khair 

(T) 
(T) 

(E) 
Global warming is due to higher quantity of 

(A) Nitrogen 
(C) Carbondioxide 

77. 
(B) OxyY gen 

(D) Hydrogen 

Which one of these energy source is not of plant origin? 

(A) Wood 

(C) Nuclear 

78. (B) Gobar gas 

(D) Coal 

() 

79. The area under forests in Himachal Pradesh is: 

(A) 35948 sq km 
37948 sq km 

(B) 36948 sq km 
(C) (D) 38948 sq km 

( 35948 raATET cT 36948 Tt foter 
(H 37948 ai fateiz 

s38948 aot nater 
Amrita Devi Bishnoi sacrificed her life along with 363 others to save which tree? (A) Kanakchampa 

(C) (B) 
(D) Kachnar 

Khirk 
Kejri 

() 



81. The main host plant of silk* (A) Bamboo (B) Biul 

(D) Semal 
(C) Mulberry 

Which one of the follawing is highest rank in forest departme 

(H) 

82. 

(A) (B) 
Block 

Forest 

Officer 

conservator of forest 

(C) (D) 

Divisional 

Forest 

Oflicer 

orest Range Officer 

() 

(AT) 

in Himachal Pradesh: 

Kosi (B) 
Chenab river is also known S 

(A) 
83. 

Chapla (D) Chandrabhaga 

(C) Chandarkala 

(T) 
(T) HTT 

Himalayan Forest Research Institute is located in: 

Almora 
84. (B) Shrinagar 

(A) Bilaspur 
(D) 

(C) Shimla 

(T) 
ATGTTT 

( 

A plant which can grow partially or wholly submerged in water is called: 

(B) 85. Xerophyte 
(A) Hydrophyte (D) Epiphyte 

(C) Mesophyte 

(T) 

HHNAG 


